1. Pass Up Openers




(ST Toolkit

Released Question #38

Triangle JKL is shown below. Which equation should be used to
find the length of JK?

K

9
A. sin24°= E
28
B. in24° = 20
JK

28
¢ c0s24° = E
28

D J

c0s24° = E
JK



6. Basketball Review

A new pipeline is being constructed to re-route About how many extra miles will the oil flow

its oil flow around the exterior of a national once the new route is established?
wildlife preserve. The plan showing the old
pipeline and the new route is shown below.

B 68

CcC 92
D 160
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6. Basketball Review

A. Japanese



6. Basketball Review

Given: AB and CD intersect at point E; Which theorem or postulate can be used to
/1~/2 prove AAED ~ABEC?

.

B SSS

C ASA
D SAS




6. Basketball Review

B. Chinese

C. Korean




6. Basketball Review
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Quadrilateral ABCD is a parallelogram. If
adjacent angles are congruent, which statement
must be true?

A Quadrilateral ABCD is a square.
Quadrilateral ABCD is a rhombus.

B
C  Quadrilateral ABCD is a rectangle.
D

Quadrilateral ABCD is an isosceles
trapezoid.



6. Basketball Review

A. Japanese

C. Korean




6. Basketball Review

The figure below is a square with four What is the area, in square units, of the shaded
congruent parallelograms inside. portion?
A 60
B 84
C 114
D 129

12




6. Basketball Review

B. Chinese
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A. Japanese

B. Chinese




6. Basketball Review

37| If the measure of an exterior angle of a regular
polygon is 120°, how many sides does the
polygon have?

A 3

B 4
C 5
D 6



6. Basketball Review

B. Chinese
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6. Basketball Review

B. Chinese

C. Korean




6. Basketball Review

What is the area, in square units, of the
trapezoid shown below?

y
0,51 (8,5)




6. Basketball Review
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Lea made two candles in the shape of right
rectangular prisms. The first candle is 15 cm
high, 8 cm long, and 8 cm wide. The second
candle is 5 cm higher but has the same length
and width. How much additional wax was
needed to make the taller candle?

A 320 cm?
B 640 cm’
C 960 cm’
D 1280 cm?
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6. Basketball Review

‘Which of the following facts would be sufficient
to prove that triangles ABC and DBE are
similar?

A CEand BE are congruent.
B /ACE is aright angle.

C  ACand DE are parallel. |
D ZA and ZB are congruent.
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6. Basketball Review

B. Chinese



6. Basketball Review
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In parallelogram FGHI, diagonals IG and FH
are drawn and intersect at point M. Which of
the following statements must be true?

A AFGI must be an obtuse triangle.

B AHIG must be an acute triangle.

C AFMG must be congruent to AHMG.
D AGMH must be congruent to AIMF'.




6. Basketball Review

A. Japanese

C. Korean




1. Opener

a) A 5’7" football player can bench 280 pounds. How many pounds
could a 6’8" basketball player bench?

b) Where is the world’s largest pyramid?



1. Opener
Pyramids of the World




3. STAR Testing
Numb3rs




1. Opener

a) What is the surface area of the pyramid? The volume?

b) What animal can't walk backwards?



3. STAR Testing
Numb3rs




